MT TECHNICIAN GRADE 1V
Electrician_NCTVT

Topic:- Final QA

1) 80 workers, working together can do a piece of work in 50 days. But after 20 days, 50 workers
left. In how many days the remaining work is completed by the remaining workers?

¢0 FTHAR THATIN TF FH 9o Ra@iaed qof F& aaFard. W 0 Rausay, o FHIR g 19, @ st
FTHAR qh F1 el fgaia qot #cdlier?

[Question ID = 294121]

1. 80 days / ¢o fgad [Option ID = 1142540]
2. 50 days / e f&@@ [Option ID = 1142541]
3. 40 days / ¥o f&aa [Option ID = 1142542]
4, 30 days / 3¢ f&a& [Option ID = 1142543]

Correct Answer :-
« 80 days / ¢o fea@ [Option ID = 1142540]

2) Mohit can complete a piece of work in 2 days and Jayant can do the same work in 3 days. They
agree to work together with Pinto and complete the work in a day. If they receive RS. 12,000 for the
work, how much should Pinto get?

AT v F1 2 Rawiaed qof F awar nfor saa A= 197 3 Rawiaed qof F& awal. i e Saa e
FIOIT AT Fel IO THT FEGHTT & F1H GUT Fel, AT AT FTHTATS %83, 000 RS 3r7clier, o Rerar e
) e g2

[Question ID = 294122]

1. RS. 5,000 / &. 3,000 [Option ID = 1142544]
2. RS. 4,000 / &. ¥,000 [Option ID = 1142545]
3. RS. 6,000 / . &,000 [Option ID = 1142546]
4. RS. 2,000 / &. ,000 [Option ID = 1142547]

Correct Answer :-
e RS. 2,000 / &. 3,000 [Option ID = 1142547]

3) If Sujatha walks at 4 km/h, she is late to her office by 10 minutes. But if she walks at 5 km/h,
she reaches 5 minutes before. How far is her office from her home?

gotrar 8 freft/ are damer arerdy, o fova forea 3ifrwsed devamy ¢ Pislie fee gt wiq o o feslt/are
FaTTeY Arerelt, ¥ ot o e amelt oieiEa. v foer sitfee eRraree fonelt gy ame?

[Question ID = 294123]



1. 5 km / s f&eT [Option ID = 1142548]
2. 4 km / 8 T [Option ID = 1142549]
3. 5.33 km / 4.33 faair [Option ID = 1142550]
4, 4,67 km / ¥.€b THaT [Option ID = 1142551]

Correct Answer :-
e 5km /s faeT [Option ID = 1142548]

4) If P/(Q+R) = Q/(R+P) = R/(P+Q) = K and (P+Q+R) = 0, then what is the value of K?

SR P/(Q+R) = Q/(R+P) = R/(P+Q) = K 3f0I(P+Q+R) = 0, X K ¥ He¥ fFdr?
[Question ID = 294124]

.-1/ -¢ [Option ID = 1142552]
.1/ % [Option ID = 1142553]

. 0.5/ 0.5 [Option ID = 1142554]
.-0.5/ - 0.4 [Option ID = 1142555]

D WN -

Correct Answer :-
e -1/-¢2 [Option ID = 1142552]

5) The compound interest on a certain sum of money Rs. X for 2 years at 10% per annum is Rs.
2100. What will be the simple interest on Rs. X for 2 years at the same rate of interest?

€. HT1.20% I THT SUTAF IHAGIT T TshdTe ShTel Tl oo HTE. d¥ I STSleIA T IHAGT 2 TETHTS
WS ATt fhelY 3rae?

[Question ID = 294125]

1. Rs. 2050 / &. 040 [Option ID = 1142556]
2. Rs. 2000 / &. Q000 [Option ID = 1142557]
3. Rs. 2100 / &. %00 [Option ID = 1142558]
4. Rs. 2010 / &. 0%0 [Option ID = 1142559]

Correct Answer :-
e Rs. 2000 / &. 000 [Option ID = 1142557]

B Production Overhead
B Other Expenses
W Direct Labour

m Direct Material




Cost of production of sugar at a factory for a month under different heads are as follows:-

Direct materials — Rs. 12,00,000
Direct labour — Rs. 20,00,000
Production overheads — Rs. 35,00,000
Other expenses — Rs. 23,00,000

What is the difference between the central angles for the largest and smallest components of the
cost of production, if all items are placed on a pie-chart?

TS FRETATATT TEITAT ScTTCATHT 99T MNYHT@Teller IcqTed @ Wrellel THTO 3118,

I ATATIT @ - T, £3,00,000
de HGJ_"ﬂ' - §.R0,00,000
3cUTGe IXET - F. 39,00,000
FaX @ - T 33,00,000

Y TE TE-ATE ALY STAT, FATA T fHATT ST HeATSAT UTHTEAT FIATT Thell HIF IAA?
[Question ID = 294126]

1. 100° / 00° [Option ID = 1142560]
2. 140° / 2¥o° [Option ID = 1142561]
3. 48° / ¢ [Option ID = 1142562]
4. 92° / :3° [Option ID = 1142563]

Correct Answer :-
e 92°/° [Option ID = 1142563]

7) Alphabets of the word “"LAKE” are arranged randomly to form different words, without repetition
of any alphabet in a single word. A word is chosen at random. What is the probability that word
starts with L?

"LAKE" 9T eGTAH e HIUTATE! HARTAT THTIST I8 IS IYART o FHIaT 91T A6, [ASTITATS TIR FIOITATS
T Igellet T Fell, eregie T TG f@as Fefl. a¥ L 3%t are] §oran ersaret e fd?

[Question ID = 294127]

1. 0.375 / =.33 [Option ID = 1142564]
2. 0.50 / o.90 [Option ID = 1142565]
3. 0.25/ =.24 [Option ID = 1142566]
4. 0.33 / ©.33 [Option ID = 1142567]

Correct Answer :-
e 0.25/ 0.9 [Option ID = 1142566]

8) Suraj sells goods at a discount of 10% and stills makes a profit of 5%. By how much percent had
he marked-up the price of the goods?

ST ¢0% HT 3T AT fAsh FHTat HOr aidh AT 9% BT i), o cATer HretredT fhareliet g frelt o el
me?

[Question ID = 294128]



1. 16.67% / %5.65% [Option ID = 1142568]
2. 15% / 29% [Option ID = 1142569]

3. 15.33% / £4.33% [Option ID = 1142570]
4.17.50% / 215.90% [Option ID = 1142571]

Correct Answer :-
e 16.67% / 26.€b% [Option ID = 1142568]

9) Raju lends Rs. X at simple interest, which amounts to Rs. 7200 after 2 years and to Rs. 10200
after a further period of 5 years. Find rate of interest.

T S AT T9L. X WFFA 3UR e, Sareht 2 aufeday T92. oo A gl IO ¢ Fuieias FURA, 200
TFHA gId. AT TS Hal.

[Question ID = 294129]

1. 10% / 9% [Option ID = 1142572]

2. 33.33% / 33.33% [Option ID = 1142573]
3. 12.50% / $2.90% [Option ID = 1142574]
4. 6.75% |/ £.3 % [Option ID = 1142575]

Correct Answer :-
e 10% / ¢°% [Option ID = 1142572]

10) Let X = 753321. When Y is added to X, (X + Y) becomes a multiple of 9. What is the minimum
value of Y?

FHST X = 753321, X 7Y Y Afaeara (X + Y) degT & =1 0T qelall. X Y F AT 7o fcdr?
[Question ID = 294130]

1. 6 / & [Option ID = 1142576]
2.5/ 4 [Option ID = 1142577]
3.3/ 3 [Option ID = 1142578]
4.0/ 0 [Option ID = 1142579]

Correct Answer :-
e 6/ & [Option ID = 1142576]

11) Vimal and Kamal sells their respective watch at Rs. 2000 each. Kamal making 20% profit on
cost and Vimal making 25% profit on cost. What is difference between the cost price of the two
watches?

faae 7 FA T I FERT TSI T A 000 FTYITAT Ahell. FA o1 FHANET 0 TFF AT AT T fAFAST a1
fFFAeiiat 24 T AT ST, T AT TSATBIAT A racAtiar w3 frd?

[Question ID = 294131]

1. Rs. 166.67 / &. ¢&€.6b [Option ID = 1142580]
2. Rs. 66.67 / &. €5.8 [Option ID = 1142581]

3. Rs. 666.67 / ¥. €&&.60 [Option ID = 1142582]
4. Rs. 267.66 / &. €.68 [Option ID = 1142583]



Correct Answer :-
e Rs. 66.67 / . €6.61 [Option ID = 1142581]

12) Two unbiased dice are rolled in succession and number appearing on them is noted. What is the
probability that both numbers are prime numbers?

S o geldoledT SISH T ITaITS fhtaedr 3nfor 3nfor camay Aum=ar g&d=h Al Fell. S & s
YUY AT fahelt 3me?

[Question ID = 294132]

1. 0.40 / o.¥o [Option ID = 1142584]
2. 0.50 / 0.0 [Option ID = 1142585]
3.0.33 / .33 [Option ID = 1142586]
4. 0.25 /2.4 [Option ID = 1142587]

Correct Answer :-
e 0.25 /0.4 [Option ID = 1142587]

13) Ratio of total surface area of two cuboids is 25:81. What is the ratio of the volume of the two
cuboids?

QYT TATHTedT THOT JESHTAT AIABaId A0Tear :9:¢t ITE. AT AN TATFHaredT HeThara Joleay fhel?
[Question ID = 294133]

1. 625 : 6561 / &39: €462 [Option ID = 1142588]
2. 625 : 729 / €39 : bR [Option ID = 1142589]
3.125: 729/ 239 : bR [Option ID = 1142590]
4,125 : 81/ ¢y : ¢¢ [Option ID = 1142591]

Correct Answer :-
e 125:729/ 2% : bR [Option ID = 1142590]

14) 3 numbers X, y and z are in arithmetic progression, such that x + y + z = 24 and x*y*z = 440.
What is value of y?

3 WEAT X, y 3TTOT Z AT AT AOAFAET IAMIFR AR FY, TATT X + y + z = W AN x*¥y*z = Yyo, Wy T HeA
frdi?

[Question ID = 294134]

1. 8 / ¢ [Option ID = 1142592]
2. 12 / ¢ [Option ID = 1142593]
3. 10 /g0 [Option ID = 1142594]
4. 4 / ¥ [Option ID = 1142595]

Correct Answer :-
e 8/ ¢ [Option ID = 1142592]



15) Compound interest earned on Rs. P at 10% per annum in the second year is Rs. 1320. Find P.

T8N, 2% T & P T gu=a1 ¥t AT Tdle a1 T 320 3Me. a¥ P ¥ e o,
[Question ID = 294135]

1. Rs. 30000 / &. 30000 [Option ID = 1142596]
2. Rs. 24000 / &. yooo [Option ID = 1142597]
3. Rs. 10000 / &. toooo [Option ID = 1142598]
4. Rs. 12000 / &. %2000 [Option ID = 1142599]

Correct Answer :-
e Rs. 12000 / ¥. ¢000 [Option ID = 1142599]

16) What is the ratio of average of first 20 whole numbers to average of first 20 natural numbers?

afReaT 20 qut HEaTear FUEdE aiRedT 20 Aufite FEarAr EEd aad ONcas fhdr?
[Question ID = 294136]

1. 19:21 / ¢R:3¢ [Option ID = 1142600]
2. 1:1/ 2:¢ [Option ID = 1142601]

3. 19:20 / 8R:20 [Option ID = 1142602]
4. 21:23 / :2:33 [Option ID = 1142603]

Correct Answer :-
e 19:21/ ¢R:3% [Option ID = 1142600]

17) At what rate percent per annum a sum of money becomes four times of itself in 32 years? (If
simple interest is reckoned)

Z.91. fFdl sATeIete T IR A 3R aNTHEY IRYE gld? (SR W@ T Ao aX)
[Question ID = 294137]

1. 9.375% / R.3b4% [Option ID = 1142604]
2. 6.25% / €.9% [Option ID = 1142605]
3. 8.33% / ¢.33% [Option ID = 1142606]
4. 3.75% / 3.98% [Option ID = 1142607]

Correct Answer :-
e 9.375% / R.3u4% [Option ID = 1142604]

18) A 1000 gm salt solution contains 40% salt in it. How much salt should be added to make it
60%?

THT 2000 IH 4T ETAUIMTHER ¥o% &R 3Ted. d THTUT £0% FIUITHTEY ATHEY fFd 4TR Asaa anrda?
[Question ID = 294138]

1. 200 gm / Q00 31 [Option ID = 1142608]
2. 500 gm / oo 33 [Option ID = 1142609]



3. 400 gm / 8oo 3 [Option ID = 1142610]
4, 320 gm / 330 3# [Option ID = 1142611]

Correct Answer :-
e 500 gm / Yoo 31 [Option ID = 1142609]

19) The ratio between the speeds of driving their individual cars by Sid and Rid is 3:4. If time taken
by Sid to cover a distance is 64 minutes, then what is the time taken by Rid to cover the same
distance?

g anfor Re grear Friwar 39mr yATr 3:4 318, SR REan vae 3a% IR FHoIraT &8 A amera srade o)
faada 3rav IR Fogrard Rear Fdl 3 aretd. [Question ID = 294139]

1. 56 mins / $& &= [Option ID = 1142612]
2. 64 mins / &% fA=IC [Option ID = 1142613]
3. 85.33 mins / ¢4.33 f&=ic [Option ID = 1142614]
4, 48 mins / ¥¢ TAse [Option ID = 1142615]

Correct Answer :-
48 mins / ¥¢ [A=Te [Option ID = 1142615]

20) pivide 680 among A, B and C such that A gets 2/3"9 of what B gets and B gets 1/4™ of what C
gets. Now the share of C is:-

A, B 31T C #tfier 680 o fAHTSIeT 31 FguTat A AT 2/ 3 ©f fAsd 31for B emamdr C Aaa & 1/4 318, 31ar C arer
3T 3TE:-

[Question ID = 294140]

1. 400 [Option ID = 1142616]
2. 200 [Option ID = 1142617]
3. 350 [Option ID = 1142618]
4. 480 [Option ID = 1142619]

Correct Answer :-
* 480 [Option ID = 1142619]

Topic:- Final LR

1) Complete the following Series.

Freller @ qut F
6 /% 216 / 11788 | 121 16/%% | 4096 21/ ?
31% 1929 [£0%% | 2%

[Question ID = 294342]



1. 441 / y¥¢ [Option ID = 1143420]
2. 5124 / 423 [Option ID = 1143421]
3. 144 / 388 [Option ID = 1143422]
4. 20 / R0 [Option ID = 1143423]

Correct Answer :-
e 441 / ¥¥2 [Option ID = 1143420]

2) Complete the following Series.

Frelier Y@ qut FI
314 |15 5 35 |7 17 ?
i | | fa | fiag
=

[Question ID = 294343]

1. 13/ ¢3 [Option ID = 1143424]
2.99 / /% [Option ID = 1143425]
3.9/ ) [Option ID = 1143426]

4,11/ ¢¢ [Option ID = 1143427]

Correct Answer :-
e 11/ ¢¢ [Option ID = 1143427]

3) Complete the following Series.

Freller @ qut F
343 /3943 | 1331/ 21971 4913/ 6859/ ?
£33¢ 2310 BE & AL

[Question ID = 294344]

1. 9883 / R¢¢3 [Option ID = 1143428]
2. 12167 / 2%¢&b [Option ID = 1143429]
3. 8439 / ¢¥3R [Option ID = 1143430]
4. 9261 / R3¢&¢ [Option ID = 1143431]

Correct Answer :-
e 12167 / §%¢&lL [Option ID = 1143429]

4) Complete the following Series.

Freller @ qut F



414 36/ 3% 144/ %% | 400/ %00 | 900/ %co |?

[Question ID = 294345]

1. 1800 / t¢oo [Option ID = 1143432]
2. 1749 / 264 [Option ID = 1143433]
3. 1764 / 26&% [Option ID = 1143434]
4.1781 / ¢t [Option ID = 1143435]

Correct Answer :-
e 1764 / 2&¥ [Option ID = 1143434]

5) Complete the following Series.

Frelier Y@ qut FI

2401/ 3% | 3701/ 3908 | 4801/ %¥cCo? | 6501/%0? | 8001/ 0ol |7?

[Question ID = 294346]

1. 10101 / %0202 [Option ID = 1143436]
2. 10001 / gooog [Option ID = 1143437]
3.9901 / ’Re¢ [Option ID = 1143438]

4. 11001 / 8%00¢ [Option ID = 1143439]

Correct Answer :-
e 10101 / g0%0¢ [Option ID = 1143436]

6) If in a code language:-

FROM = 52;

VILE = 48; and

TOUR = 74;

Then in the same language, how would ZOOLOGY be written?

Aihfas AEAEN S

FROM = 43;

VILE = y¢; 3mfor

TOUR = by;

T T Fihfas HT9AEN, ZOOLOGY T 2eg FAT fAgIa Séer?

[Question ID = 294347]

1. 96 / R& [Option ID = 1143440]

2. 114 / 238 [Option ID = 1143441]
3. 116 / %95 [Option ID = 1143442]
4.115 / 235 [Option ID = 1143443]



Correct Answer :-
e 115/ %8¢y [Option ID = 1143443]

7) A{-E2-1I3-0%-# /A, -E3—1,—0%- #
Which of the following shall come in place of “#” in the given series?

o feorear afada “#” =ar ¥aelt F1 ASa?
[Question ID = 294348]

1. T, / Ty [Option ID = 1143444]

2. U5/ Us [Option ID = 1143445]
3. Us / Uy [Option ID = 1143446]

4. U° / U® [Option ID = 1143447]

Correct Answer :-
» Us/ Uy [Option ID = 1143446]

8) If in a code language:

GET = 32;
KIN = 34 and;
HOP = 39

Then, in that language, YEN shall be written as:-
S Wik fas HAE:
GET = 3%;

KIN = 3y 31for;
HOP = 3%

T, AT Fihfas HMALY, YEN &1 2Teg a7 fAgar Jga?
[Question ID = 294349]

1. 46 / w& [Option ID = 1143448]
2. 44 / ¥ [Option ID = 1143449]
3. 45 / ¥ [Option ID = 1143450]
4. 42 | ¥ [Option ID = 1143451]

Correct Answer :-
e 44 / ¥y [Option ID = 1143449]

9) If in a code language:
FORTUNATE is written as ENQSTMZSD; How would PNEUMONIA be written in the same language?

SN giFfa® smaed:



FORTUNATE &T 2rsg ENQSTMZSD 3797 fadie SiTdl; av cara H19#ed PNEUMONIA g7 2Teg 4T fagar JAge?
[Question ID = 294350]

1. OMDSLOMHZ [Option ID = 1143452]
2. OMDTLNMHZ [Option ID = 1143453]
3. OMDUNLMHZ [Option ID = 1143454]
4. OMDTLMNHZ [Option ID = 1143455]

Correct Answer :-
e OMDTLNMHZ [Option ID = 1143453]

10) If in a code language:

STOP is written as PTOS;
LIKE is written as EIKL

How would CRUSTACEAN be written in the same language?
S Ak fas AT

STOP &T 2reg PTOS 3147 fodle simal;
LIKE &T 2reg EIKL 34T fordram sy

R AT HTYHET CRUSTACEAN &T 2rsg 3T fagieT sd?
[Question ID = 294351]

1. NRUSTACDAC [Option ID = 1143456]
2. NAECATSURC [Option ID = 1143457]
3. CRUSTACEAN [Option ID = 1143458]
4. NRUSTACEAC [Option ID = 1143459]

Correct Answer :-
o NRUSTACEAC [Option ID = 1143459]

11) If the first two Alphabets of the names of each month of the English calendar are to be exactly
reversed without changing the rest of the spelling, which of the following month shall appear fifth
from the start in an ordinary English dictionary?

U e RIF e ycds Aftwarear amardier uftear g aRET FH s 3a¢ Feara AT Jrhra TfaTr 7
IEACTTH, WTeltel YT RIUTAT ARAT ATHIT SIS AsGHILATT YTIdT FHATHET ISA?

[Question ID = 294352]

1. February / tgar¥ [Option ID = 1143460]
2. September / Te¢sX [Option ID = 1143461]
3. October / 3iTeFels} [Option ID = 1143462]
4. December / f38sX [Option ID = 1143463]

Correct Answer :-
« December / 38X [Option ID = 1143463]



12) In a certain code language:

%0 ~ means Mobile Phone;
) & means Car Van;
% ) means Mobile Car.

How would Van Phone be written in the same code language?

T fafrse Aidkfas amae:

% A FEUTSH AESA B,
) & FgUTS FR FeA;

% ) FEUTS AETST R

TR EoT B 8T e ATT ik fas ANFALY FAT AT JAéa ?
[Question ID = 294353]

1. & ~ [Option ID = 1143464]
2. % ~ [Option ID = 1143465]
3. A % [Option ID = 1143466]
4. % & [Option ID = 1143467]

Correct Answer :-
o & ~ [Option ID = 1143464]

13) How many times does the various pair of vowels appear in the given series in the chronological
sequence as they would appear in an ordinary English dictionary?

ATATT ST ASEHILT el FIedT FTAITAT AIAINSAT SANSAT Wiellel Alforehd fhdl dT Bl Gaara?

EITAOEUUOAIOEOAUIUEIOUUE
[Question ID = 294354]

1.4/ ¥ [Option ID = 1143468]
2.7/ [Option ID = 1143469]
3.6/ & [Option ID = 1143470]
4.5/ 3 [Option ID = 1143471]

Correct Answer :-
e 7/ [Option ID = 1143469]

14) If Birju is the son of the brother of Gopi who is the father of the brother of Gopal, how is Gopal
related to Birju?



S TS &1 M= strar= Feem 38 of MYTeredT $iard ISt HI0T Hed, X Mgrere sl A1 S 3me?
[Question ID = 294355]

1. Nephew / &#1=T [Option ID = 1143472]

2. Cousin / Feld #13 [Option ID = 1143473]
3. Uncle / atarT [Option ID = 1143474]

4, Grandfather / 3TsileT [Option ID = 1143475]

Correct Answer :-
» Cousin / JeId #13 [Option ID = 1143473]

15) If:

A & B = Ais B's sister;
A ~ B = A is B's wife; and
A!B = Ais B’'s daughter,

Then, what relationship can be derived from the following status?
oI

A 31T B = A €Y B =Y afgor 311g;
A ~ B = A & B o} gcsit 3mmg; nfor

A!B = A @ B =t geraft 3,
T, Grelter Rycawa Hord a1 fowgeT Fa?
[Question ID = 294356]

1. O'is H’s Uncle / O &T H T aTehT 31Tg [Option ID = 1143476]

2. His O’s Uncle / H & O dT &hrehr 31Tg [Option ID = 1143477]

3. His O’s Father / H & O T daref 37¢ [Option ID = 1143478]

4, O is H's Grandfather / O & H o 37TSiiaT 3Tedl [Option ID = 1143479]

Correct Answer :-
e Ois H’s Uncle / O 8T H AT et 31T [Option ID = 1143476]

16) Looking at a photo, Prerana said that, “"This person in the photo is the only child of the nephew
of my husband’s uncle”. How is the person in the photo related to Prerana?

PIEIHS T, YO FOIY, " BIEIAele & sqeFll AT IlIeAT FTHTeAT HIATT THAA T JoT 3R, Breraeie
SqFAT WOUMATT HT ATd 3e?

[Question ID = 294357]

1. Grandson / =T [Option ID = 1143480]
2. Wife / 9c=AT [Option ID = 1143481]

3. Daughter / #erai [Option ID = 1143482]
4, Mother / 3T [Option ID = 1143483]

Correct Answer :-
« Daughter / #erfT [Option ID = 1143482]



17) If a family of 8 consists of at least 2 fathers, 3 wives, 2 grandchildren. There would be a
minimum of how many women in the family?

¢ VETTAT FEATHEA FHIaHAT 2 TN, 3 Teell, 2 ATAAS AR, T AT FEaHed Ftawa! e wfgar sraeier?
[Question ID = 294358]

1. 3/ 3 [Option ID = 1143484]
2. 8/ ¢ [Option ID = 1143485]
3.6/ & [Option ID = 1143486]
4.2 / R [Option ID = 1143487]

Correct Answer :-
e 3/ 3 [Option ID = 1143484]

18) My wife’s brother’s wife’'s mother-in-law’s son-in-law would be related to my wife’s mother-in-
law as her:-

HATSAT YoeA 1T HTATeAT Yool o] HRGEAT SATaATaT AT ToetredT AGRf 7 1 3Me? [Question ID = 294359]

1. Grandson / =T [Option ID = 1143488]
2. Husband / 9T [Option ID = 1143489]
3. Son / Heram [Option ID = 1143490]

4. Nephew / &TaT [Option ID = 1143491]

Correct Answer :-
* Son / #Hetat [Option ID = 1143490]

19) How would Manmeet be related to the wife of the grandson of Manmeet’s mother?

AAHTEAT HTETAT ATTATEAT YA I Iad AFAIGD AT FIT 31¥? [Question ID = 294360]

1. Father-in-Law / G183 [Option ID = 1143492]
2. Father / @3rer [Option ID = 1143493]
3. Uncle / =1t [Option ID = 1143494]
4, Grandfather / 3TTsiiaT [Option ID = 1143495]

Correct Answer :-
« Father-in-Law / 9raxT [Option ID = 1143492]

20) If:

D is the Son of S;

W is the Husband of H;
S is the Daughter of H.
How is D related to W?

ol

D & S |T eI 3Te;
W &T H =7 gt 31¢;



S & H <t agereh 3.

aX D ¥ W ®ad ATd 1 3¥a? [Question ID = 294361]

1. Grandson / =T [Option ID = 1143496]
2. Daughter / #eraf [Option ID = 1143497]
3. Son / Hetam [Option ID = 1143498]

4. Husband / 9l [Option ID = 1143499]

Correct Answer :-
» Grandson / =1 [Option ID = 1143496]

21) If Zeba was to write down all the digits that appear on the dial of on ordinary landline
telephone instrument, what shall be the sum total that she shall arrive at if she was to add each one
of them?

S AT AgHITAT AsdATSeT AP IUFHIUMAT Seade §a 3 fafgar 3nfor faa s g s Fet v
i vt 8 et grdar?
[Question ID = 294362]

1. 44 / ¥¥ [Option ID = 1143500]
2. 45 / ¥s [Option ID = 1143501]
3. 55/ 93 [Option ID = 1143502]
4. 100 / %00 [Option ID = 1143503]

Correct Answer :-
e 45/ ¥ [Option ID = 1143501]

22) The calendar for the year 2016 is same to the one which was used last time in which of the
following years?

Greert Y FroTeaT e RiwT 3nfor 20¢€ = ag Rl 3rrd I exd?
[Question ID = 294363]

1. 2007 / R0l [Option ID = 1143504]
2. 2000 / 000 [Option ID = 1143505]
3. 1988 / ¢’¢¢ [Option ID ='1143506]
4. 2012 / 022 [Option ID = 1143507]

Correct Answer :-
e 1988 / ¢2¢¢ [Option ID = 1143506]

23) While observing a special dice, Taahi notices that Numbers 1, 2, 3 are immediately adjacent to
one another. Which of the following would most probably be false about this dice?

farery sEwe ffaTor Fa sruaie, aTfear e AT Y, ¢,3,3 T 3 TINT THARICAT AT Hed. A SBHAEA
WTlerdehT FTT TS HFUATHT AT HE?

[Question ID = 294364]



1. 4, 5, 6 are immediately adjacent to one another / ¥,9,& g o3I TehHHITHT EISEL 37ed [Option ID = 1143508]
2. 2,3,4 are immediately adjacent to one another / ,3,% § oI9Id Tehahi<dl STofell 31ed [Option ID = 1143509]
3. 4 and 6 are exactly opposite one another / ¥ 3107 & ThAHAT 3P fawg 3ed [Option ID = 1143510]

4, 1 and 6 are exactly opposite one another / ¢ 3TTOT & § UehdohITaT 37914T fa&g 3Ted [Option ID = 1143511]

Correct Answer :-

« 4 and 6 are exactly opposite one another / ¥ 370T & TshAHAT 39TET fa®g 3Ted [Option ID = 1143510]

24) Maalhi is playing with 3 ordinary dice and gets the numbers 2, 4, and 5 on each of those
respectively. What shall be the product of the numbers that shall appear on the sides which shall be
exactly opposite to the sides that Maahi got?

ATEY 3 WA STEH 3T WosdT 3T AT el 2, ¥ 30T 4 3 ATaW HF I 3. AGer o o7 AT e
31ITEY 3T ATSAT AT STEHAT HHAAT 3MH3ATT afier el gigar?

[Question ID = 294365]

1. 40 / 8o [Option ID = 1143512]
2. 30 / 30 [Option ID = 1143513]
3. 36 / 35 [Option ID = 1143514]
4. 14 / ¥ [Option ID = 1143515]

Correct Answer :-
e 30/ 30 [Option ID = 1143513]

25) A dice having six faces has been coloured Purple, Pink, Peach, Pearl, Yellow and Azure on each
of its sides. Further, if Purple side is exactly opposite to Pearl side and Peach is immediately
adjacent to Yellow and Azure side, which of the following shall be most probably true?

HET AT IAATAT STEHAT TeAF ATola} ATaT, e, G, Mo T, Raast sfor st v 3me. e, S et
1o Ao arsrear fawg fedar 3rdter 3nfor drar Rawar @ smemel T ars(e 3@, v Grelterder F17 aa
T AT 3T?

[Question ID = 294366]

1. Peach Side is exactly opposite to Azure Side. / = sTsf 31ehTefT sTeT=aT fa®g 318, [Option ID = 1143516]

2. Peach Side is exactly opposite to Yellow Side. / 9 &T5] [gedr srefear fa&g 31¢. [Option ID = 1143517]

3. Pink Side is exactly opposite to Yellow Side. / I[elTslY STsf faear sTefear fawg 31me. [Option ID = 1143518]

4. Pearl Side is immediately adjacent to Peach and Purple Side. / AT aTe] dr=r 31707 STi3TeodT STzl AT 3778,
[Option ID = 1143519]

Correct Answer :-
« Pink Side is exactly opposite to Yellow Side. / I[ITslY aT] faear STsfear fa®g 31e. [Option ID = 1143518]

26) Wafaa wants to colour all sides of a particular cube, so, what is the minimum numbers of
colours she needs to use such that no two adjacent sides have identical colours?

qHT AT THT SNFHSITSAT W ATS[AT LT SATIAT T, AINA<AT Alel ATo(aT W7 FRAT AF 7 Fg0reT foral felt v araw
FIOITT ITTRIHAT 3T ?

[Question ID = 294367]



1.3/ 3 [Option ID = 1143520]
2.2/ 2 [Option ID = 1143521]
3.6/ & [Option ID = 1143522]
4.5 / s [Option ID = 1143523]

Correct Answer :-
e 3/ 3 [Option ID = 1143520]

27) One big cube which is painted Silver on all the sides is cut into 125 smaller cubes of equal size.
How many such smaller cubes shall have no paint on their face?

TS ST Fad T AT T ANSAT SFadqT 49 FATA HTHRTT AGTA Shad FIIe, cATeaqrdah! fobel wTgrer

[Question ID = 294368]

1. 8/ ¢ [Option ID = 1143524]
2.9/ [Option ID = 1143525]
3. 27/ 9 [Option ID = 1143526]
4. 16 / & [Option ID = 1143527]

Correct Answer :-
e 27 /R0 [Option ID = 1143526]

28) Queenie is seeing time in her watch through a mirror. She can see the time as 6.30 in the
mirror. What time shall it be actually at that instant?

st 3Rena foaear usamedia 4% uied. degT faedT fa<ar gsaiaId &.30 arrare fiadrd. a¥ caaa! @ fad! arsrer
IEa?

[Question ID = 294369]

1. 6.30 / €.30 [Option ID = 1143528]
2. 5.30 / 4.30 [Option ID = 1143529]
3.12.30/ ¢2.30 [Option ID = 1143530]
4. 1.30/ 2.30 [Option ID = 1143531]

Correct Answer :-
e 5.30/ 4.30 [Option ID = 1143529]

29) Pratap’s clock strikes once at 1 o’clock, twice at 2 o’clock and so on. It takes exactly 6 seconds
to finish its striking at 3 o’clock. How much time would it take to strike at 9 o’clock?

TATI=AT TSATST ¢ TSIl ¢ BIHT Sdl, Sl aTerdT R 3% TSI MO ATHATOr G& Sleh ISl ATl 3 ATSIclT Sl
YSUATHTSY & Vehg ARIATT X & ATSIAT B3I ISUITHTSY el fohelt a5 aTater?

[Question ID = 294370]

1. 21 seconds / ¢ ¥ehg [Option ID = 1143532]
2. 24 seconds / ¥ ke [Option ID = 1143533]
3. 18 seconds / 2¢ Tehe, [Option ID = 1143534]



4, 12 seconds / 2 ®e¢ [Option ID = 1143535]

Correct Answer :-
e 24 seconds / % Hehe [Option ID = 1143533]

30) If Tim’'s watch loses 4 seconds every 40 minutes, it shall take how many hours to lose 60
minutes?

SR oA g3 UAF Yo fAAlerar ¥ Aehg AT Usd 3A, a¥ &o fAANE AR gsvarad e et 3 amta?
[Question ID = 294371]

1. 3600 / 3800 [Option ID = 1143536]
2. 600 / €oo [Option ID = 1143537]

3. 4000 / 8ooo [Option ID = 1143538]
4. 36000 / 36000 [Option ID = 1143539]

Correct Answer :-
e 600 / &oo [Option ID = 1143537]

31) In 12 hours, how many times are the minute and hour hands of an ordinary clock exactly in
opposite direction to one another?

¢ AIHA, AT USATSTHEY RIE F1eT T arT FeT fhdt deT vhawear fawg G rwara? [Question ID =
294372]

1. 24 / ¥ [Option ID = 1143540]
2. 12/ 22 [Option ID = 1143541]
3.11/ ¢ [Option ID = 1143542]
4. 22 / 32 [Option ID = 1143543]

Correct Answer :-
e 11/ ¢¢ [Option ID = 1143542]

32) Kewal, a resident of Jodhpur is running towards the North direction at 5 p.m. on a clear summer
evening. His shadow shall most likely be falling towards which direction?

ST TFOIRT Fael SogTedTcilel AT fATSr HIAFTDS! 4 ST Sca? et 4T ATTell. TqTelt Araelt Hiorear farem
TSUITE A AFAAT H1E?

[Question ID = 294373]

1. South / gf&IoT [Option ID = 1143544]
2. East / q& [Option ID = 1143545]

3. West / gfae [Option ID = 1143546]
4, North / 3caR [Option ID = 1143547]

Correct Answer :-
« East / qd [Option ID = 1143545]

33) If South-East was to become North, North-East to become West and so on, then, West shall
become which of the following directions?



S 37 fe 3ea¥ Feteh, Sarer ferem afResr Ferel) nfor FrvaATer g2, &, affers feam arelterdeh Hore e awter?
[Question ID = 294374]

1. South-West / &f&yor — uf¥as =T [Option ID = 1143548]
2. North-East / 3cci — 94 $2= [Option ID = 1143549]

3. South-East / &faToT-gd 31317 [Option ID = 1143550]

4. North-West / 3caR — 9f¥a# arged [Option ID = 1143551]

Correct Answer :-
« South-East / f&IoT-gd 31317 [Option ID = 1143550]

34) Ginii is going towards South, she then turns left and goes straight before turning left again.
Then she turns towards the East. She shall be facing which direction now?

o=l gf@oes o, S off STl g@a 3nfor geet sTellens a@uaAnITH W@ AT, Fa¥ o Ids aad. a¥ off aman
FIOTET AT Als HeaT oY 3mR?

[Question ID = 294375]

1. West / af@aar [Option ID = 1143552]
2. South / &fa&YoT [Option ID = 1143553]
3. North / 3caR [Option ID = 1143554]
4. East / & [Option ID = 1143555]

Correct Answer :-
« East / qd [Option ID = 1143555]

35) Six friends, namely, Yummy, Yini, Yashika, Yagna, Yami and Yash are sitting around a round
table facing towards the Center. If:

Yini and Yami are sitting immediately next to one another;
There is at least one person sitting between Yummy and Yashika;

None amongst Yami and Yummy are sitting immediately next to Yashika; and
Yagna is not sitting exactly opposite Yash.

Which of the following is most probably true?

IFhY, Rett, i, derer, aret 3nfor Ter § wer AF-AfRr v ad@ER Taaad vEARIFSAlS FeT qwedr
3Ted. S

Rfer 3o I v a9 A9 sHET IRT.

gAY 3o il Freaed FAlaEH vF sl Fue 3.

It 3for et Freardr Fofd arflFTeaT arsper sHae A, 3T
1T FereAT fawg ferere swelell AT

X Grelerdeh FHIUTT qFT T FATATHT AFAT 3TR?

[Question ID = 294376]



1. Yami is not sitting immediately next to Yummy. / JrHT IR ST S&elell siTar. [Option ID = 1143556]

2. Yami is sitting immediately next to Yummy. / IT#HT J&HI<T STS[ell S&elell 31T, [Option ID = 1143557]

3. Yashika is sitting exactly opposite Yagna. / I1fRreT YereATear %m QI STl 38, [Option ID = 1143558]

4, Yini, Yash and Yagna are sitting immediately next to one another. / R, Ier 31foT AT ThARTAT STl
elel 3Tgd. [Option ID = 1143559]

Correct Answer :-
« Yami is not sitting immediately next to Yummy. / I JFHI<AT STSTell SHelell AATET. [Option ID = 1143556]

36) Five persons, namely, H, K, O, Z and R are sitting on a straight bench at a railway station all
facing the same railway track. If:

Z and K are not sitting immediately next to one another;
R, H and K are sitting towards the right of Z;
At least one person is sitting on either side of K; and

O is sitting at one end of the Bench.

Which of the following is most probably false?

H, K, O, Z 3nfOT R €47 UTT uadl UTHhTd {ed ¢hahs dis HveT Iod TCATT UHT T a9a qdelel Ted. I
Z 377701 K UHASTAT A qHele ATéNd,

R, H 31T K § Z =371 397dies IHad 3med,

K =31 S1o[alt FHlda#! U qadt aqael 3Te, Jmfor

O T ST TahT AFTalT JHA T 3718,

G FTT T THUATH AFIAT 318?

[Question ID = 294377]

1. R is sitting at the exact middle of the Bench / R &T sia<am #LIHTIN s&elelm 378, [Option ID = 1143560]
2. O is sitting immediately to the left of Z / O g Z =41 STTdTS el SelelT 3Tg. [Option ID = 1143561]

3. Z is sitting to the immediate right of H / Z 8T H =T 3371 STofell si&elell 371¢. [Option ID = 1143562]
4. K sitting immediately to the right of R / K 8T R TIT 35T STS[ell SHelell 37Te. [Option ID = 1143563]

Correct Answer :-
« Zis sitting to the immediate right of H / Z 8T H AT 37T STS[ell si¥elell 318 [Option ID = 1143562]

37) If Orrita is to the South of Om but West of Omi who is to the East of Oscar and Omkar is to the
North of Oscar but West of Om. Who is towards the South-West?

S AT e SR e W AT aREHeT e St AERTeAr TeT 3 IOT HFER HEHETEAT IeAFS
3T 9 AT qRTAET e, SfRror g Hior 3me?

[Question ID = 294378]

1. Oscar / 3iTEa [Option ID = 1143564]
2. Omi / 30f& [Option ID = 1143565]
3. Om / 31 [Option ID = 1143566]



4, Orrita / 3NR@T [Option ID = 1143567]

Correct Answer :-
 Oscar / 3 [Option ID = 1143564]

38) Two statements I and II are followed by two conclusions I and II. Mark your answer as:

A) If only conclusion I follows.
B) If only conclusion II follows.
C) If both I and II follow.

D) If neither I nor II follows.

Statement I: All Indian women are studious
Statement II: Rujuta is an Indian woman who failed her graduation final examinations last year.
Conclusion I: All Indian men are bad students.

Conclusion II: Rujuta shall need to appear for the examinations again in order to become a
graduate.

I 311fOr 1T a7 faeraire 1 3for I 31 &) foi 3med. o oo’ JgaAToy Aiear:

A) Fae Aoy I & 8 sraeard

B) ¥aa farohr II amep 81 3raears

C) a8 I 30T I &) Bl |

D) I 31for II &YeE &9 g1 AWeATH

faene I : 79 siRelrT A Ay 3.

faremeT 11: Sopar sl Afga ame it arerean aff wediean sifasr adtetered aregediof smelt ame.
faoher It w& sl gy arée Rt smea.

faroar 11: FycTem gedier SlvaraTdr yeer TRaYeT swoar IR I,

[Question ID = 294379]

1. A [Option ID = 1143568]
2. B [Option ID = 1143569]
3. C [Option ID = 1143570]
4. D [Option ID = 1143571]

Correct Answer :-
e B [Option ID = 1143569]

39) Two statements I and II are followed by two conclusions I and II. Mark your answer as:

A) If only conclusion I follows.
B) If only conclusion II follows.



C) If both I and II follow.
D) If neither I nor II follows.

Statement I: Prime time on Indian Satellite Television has changed the way Indians eat their dinner.

Statement II: Dinner is the most important meal for most Indian families.

Conclusion I: Television prime time is when most members of the Indian families are at home
together.

Conclusion II: Indian families prefer having Dinner together.

I 3for II a1 femar I 3nfor 11 31 &l faohr smed. g Sea¥ Jg&To Alga:
A) Fae Ao I @ 8l sraea

B) ¥aa faohr II amy 8 3reears

C) a3 I 30T II W] 81 JrHeard

D) I 371fOr II gt a1 Bl AweaTd

et Ik el Heamse Taftesaadier W a3 A=A AT AqUITedT AT TegedT Ted.
ﬁmll:a@mmwmmaﬁ?mmmm.

A I: EReiseadier H&T 3 €1 a7elt 3 1Y SioeT AR Feardiel Tgcdeh HeTT ThId S AT,
faohr I1: st frgaier sRiaT Siargar Jmasa.
[Question ID = 294380]

1. A [Option ID = 1143572]
2. B [Option ID = 1143573]
3. C [Option ID = 1143574]
4. D [Option ID = 1143575]

Correct Answer :-
e C[Option ID = 1143574]

40) Two statements I and II are followed by two conclusions I and II. Mark your answer as:

A) If only conclusion I follows.
B) If only conclusion II follows.
C) If both I and II follow.

D) If neither I nor II follows.

Statement I: An Apple a day by people at home keeps the Nurses idle at Hospitals.

Statement II: Apples are Red, Berries are Blue, and people who work for Airlines are called crew.



Conclusion I: All Nurses hate Apples.

Conclusion II: Airlines serve only Red Apples and Blue Berries to their passengers.

I 3for II 3 femarr I 3nfor 11 31 aler faohr smed. g Sea¥ Jg#o Aigar:
A) Fae AT I & 8 g

B) ¥aa farolr II amep 8 3reears

C) a4 I 3fOr I &) Bl 3 Hoaqr

D) I 3for II &YeE &9 81T AWeATH

e I evered Awiege Rawrar At v e SIomerard aRaRewier s aaaard.

et I1: aoteg a1 3rdard, S fear srwdra, 3o Taesea #Ed 1 FOMAT Al § Fgordrd.

Aoty I: ¥a aR=Er T FwEIEeET W FIA1.
fAoT I1: TIRaTS—H AT=aT Ya1i=lT $da Tl BT AT fAear 38 33 widrd.
[Question ID = 294381]

1. A [Option ID = 1143576]
2. B [Option ID = 1143577]
3. C [Option ID = 1143578]
4. D [Option ID = 1143579]

Correct Answer :-
e D [Option ID = 1143579]

Topic:- Final Marathi

1) @reiier aEFgTd Rerar Sl I 99Ty fAgsr.
"SITNT §T ereg; ‘AT AT IS YTa®a TR FTell 3TE.
[Question ID = 294101]

1. FI=13T [Option ID = 1142460]
2. BRETY [Option ID = 1142461]
3. §&hd [Option ID = 1142462]
4, 31TET [Option ID = 1142463]

Correct Answer :-
« HE&Hd [Option ID = 1142462]



2) Tl arFaid R Sl 39y 93ty fAaer.
fadia faga Saaa dtaor Reweeda fewd = FRUTATd.
[Question ID = 294102]

1. 378X [Option ID = 1142464]
2. 3@ [Option ID = 1142465]
3. 3/ [Option ID = 1142466]
4. &7 [Option ID = 1142467]

Correct Answer :-
o 381X [Option ID = 1142464]

3) "ol araid Rerar el 319 93 fagsr.
AR saFd FI0ARr WU 7S .
[Question ID = 294103]

1. #77% [Option ID = 1142468]
2. HT9T [Option ID = 1142469]
3. 519 [Option ID = 1142470]

4. 79T [Option ID = 1142471]

Correct Answer :-
o HTNT [Option ID = 1142469]

4) @rdie arrgid Rerar Sreft 39T w1 fAaEn.
ERIAT FEUTAT.
[Question ID = 294104]

1. @efasg [Option ID = 1142472]
2. AT [Option ID = 1142473]
3. eafaf=e [Option ID = 1142474]
4, qrefRI=g [Option ID = 1142475]

Correct Answer :-
o tafAfdee [Option ID = 1142474]

5) @reiier arFaTd Rar el 39y 93Ty Aaer.
dq,§, mrﬁm?—mﬁﬂa%ﬁﬁmaﬂ%?rl
[Question ID = 294105]

1. IeaaT [Option ID = 1142476]
2. 99T [Option ID = 1142477]
3. 9UAT [Option ID = 1142478]
4. Tt [Option ID = 1142479]



Correct Answer :-
o HTaAT [Option ID = 1142476]

6) oI ArsaTeT A1y faare fAast.

A’
[Question ID = 294106]

1. AT + 37 [Option ID = 1142480]
2. Jdr + 37Mg [Option ID = 1142481]
3. ¥ + 3¢ [Option ID = 1142482]
4, I4r + I [Option ID = 1142483]

Correct Answer :-
o IAr + 37¢ [Option ID = 1142481]

7) 91 Arseran Ay fawg sryTen aree faast.
\ml
[Question ID = 294107]

1. 37Y [Option ID = 1142484]

2. 313cY [Option ID = 1142485]
3. 379%Y [Option ID = 1142486]
4, T3y [Option ID = 1142487]

Correct Answer :-
« 379%Y [Option ID = 1142486]

[Question ID = 294108]

1. #iadY [Option ID = 1142488]
2. AT [Option ID = 1142489]
3. #igreT [Option ID = 1142490]
4. SHA=1 [Option ID = 1142491]

Correct Answer :-

o AT [Option ID = 1142489]

[Question ID = 294109]



1. ATAIT [Option ID = 1142492]
2. ATGAIST [Option ID = 1142493]
3. TS [Option ID = 1142494]

4, ATeTS [Option ID = 1142495]

Correct Answer :-
o HTAT [Option ID = 1142492]

10) ST IHERTET 3TAR ATRIAA $ell STl 4T HERTET &ga.
[Question ID = 294110]

1. 31[Ea [Option ID = 1142496]
2. JIeY [Option ID = 1142497]
3. AT [Option ID = 1142498]

4. YIHR [Option ID = 1142499]

Correct Answer :-
* IIER [Option ID = 1142496]

11) THEIEAT G AN GATTATET HAATH Rieg feat omd.

[Question ID = 294111]

1. gaerfaeg [Option ID = 1142500]
2. 37qUITaRTA [Option ID = 1142501]

3. 31acRuTfdeg [Option ID = 1142502]
4, Tgeufa# [Option ID = 1142503]

Correct Answer :-

e 3facRurfeg [Option ID = 1142502]

12) qdier QAT 2rsarem A1y faare st

‘HE@RHA'

9

[Question ID = 294112]

1. & &9 7@ [Option ID = 1142504]
2. @Il F#el [Option ID = 1142505]
3. 7@ %A [Option ID = 1142506]

4. @ g9 sA [Option ID = 1142507]

Correct Answer :-
« W g9 FA [Option ID = 1142507]

13) 9FYER & Uh Iqa|
[Question ID = 294113]

1. 2re¢ [Option ID = 1142508]



2. ArecHHE [Option ID = 1142509]
3. 31&X [Option ID = 1142510]
4. AeqqYUFIOT [Option ID = 1142511]

Correct Answer :-
» AscHHg [Option ID = 1142509]

14) qdier erseren AT faarg fAasr.

‘Hcgedd'

L]

[Question ID = 294114]

1. 31fa + 3cas [Option ID = 1142512]
2. 3T + 3ca# [Option ID = 1142513]
3. 31® + a# [Option ID = 1142514]
4. 31fe + A [Option ID = 1142515]

Correct Answer :-
o 3 + 3cd# [Option ID = 1142512]

15) qérer ATy A9 3 fAasT.

‘Ged g 3THaT
[Question ID = 294115]

1. & [Option ID = 1142516]

2. aX [Option ID = 1142517]

3. &g [Option ID = 1142518]

4, 39erquTr [Option ID = 1142519]

Correct Answer :-
+ & [Option ID = 1142517]

16) YN ATFTARTET A9 3y fAasT.
[Question ID = 294116]

1. 3919 0T [Option ID = 1142520]

2. 3ureft IgTOT [Option ID = 1142521]

3. U3 HIes @IuT [Option ID = 1142522]

4, 3 T 3asur [Option ID = 1142523]

Correct Answer :-
o 3urelY TETOT [Option ID = 1142521]



qérer FEOT Ut 1.
I IR ATt

[Question ID = 294117]

1. T AR [Option ID = 1142524]
2. ¢ &UTR [Option ID = 1142525]

3. T fABUIR [Option ID = 1142526]
4, T FIUR [Option ID = 1142527]

Correct Answer :-
2 SUTR [Option ID = 1142525]

18) qdIeT FEOT qoT FAL.

ST HTITET AU,

[Question ID = 294118]

1. g&=aT [Option ID = 1142528]

2. ARTEATE [Option ID = 1142529]
3. S9eleard [Option ID = 1142530]
4. TTeToT=aTE [Option ID = 1142531]

Correct Answer :-
o JearH [Option ID = 1142528]

19) YEIT 31 eI U Aeq fAasT.
‘g’
[Question ID = 294119]

1. Fresdrer [Option ID = 1142532]

2. icaefrer [Option ID = 1142533]
3. FicareTdrer [Option ID = 1142534]
4, Frcredrer [Option ID = 1142535]

Correct Answer :-
o I [Option ID = 1142533]

20) ST’ BT e AT FHIUTCAT YIhIT T HTell HTE?
Qg 9 fAasr.

[Question ID = 294120]

1. TEH [Option ID = 1142536]
2. 3RET [Option ID = 1142537]
3. S3rSiY [Option ID = 1142538]
4, T&Sr [Option ID = 1142539]



Correct Answer :-
« H&Hd [Option ID = 1142536]

Topic:- Final Electrician

1) The opposition offered to the flow of the current is known as:-

STTATETAT YVTAT FFARITT WTeflerdehl F1T #7g[ Hd@ AT? [Question ID = 296223]

1. Resistance / Ter [Option ID = 1152344]

2. Conductance / 9dgsT [Option ID = 1152345]

3. Inductance / 9adedr [Option ID = 1152346]

4. Electrostatic field / faegdfeafas & [Option ID = 1152347]

Correct Answer :-
« Resistance / 3 [Option ID = 1152344]

2) As per the colour code of the resistor, if the digit value is 8, then what is the colour of the band?

WrreT=ar Finfa® BT FHARTAR, S AT 7o ¢ HA, T AT TZATE 3T HoTar 3Ja? [Question ID =
296224]

1. Black / =TesT [Option ID = 1152348]
2. Brown / dafeT [Option ID = 1152349]
3. White / @the [Option ID = 1152350]
4, Grey / T@Tar [Option ID = 1152351]

Correct Answer :-
o Grey / T@raY [Option ID = 1152351]

3) If the voltage or current is varying with respect to time but has the same polarity, then it known
as:-

R Regders frar fagga yate ddaieR gead 3, 9o re (NRE) yaar verarda 3, av QT
FgUIdid:- [Question ID = 296225]

1. Unidirectional source / TsffIe Al [Option ID = 1152352]

2. Positve source / &7 & [Option ID = 1152353]

3. Negative source / FoT @i [Option ID = 1152354]

4. A.C. voltage source / T.HI. fdegders Bid [Option ID = 1152355]

Correct Answer :-
« Unidirectional source / Tef&fRIe & [Option ID = 1152352]

4) A network is said to be when excitation and response terminals could be
interchanged.

SiegT 3R HTTOT UAATE 3737 ITelY ATceTacel ol TS Ahd, gl AT Acahdl Fgeo ATd. [Question
ID = 296226]

1. reciprocity / 37=ae=aar [Option ID = 1152356]



2. lamped network / gsaferd sicae [Option ID = 1152357]
3. bilateral network / gfa9afar sicas [Option ID = 1152358]
4, linear network / ¥ Aeas [Option ID = 1152359]

Correct Answer :-
e reciprocity / 37=dleadr [Option ID = 1152356]

5) The lowest energy state is known as:-

A Jorean e

1. Excited / 3cdfoid [Option ID = 1152360]

2. Normal / &TATET [Option ID = 1152361]

3. Radiating / arofr (Xf3ufear) [Option ID = 1152362]
4, Critical / #Fgccardr [Option ID = 1152363]

Fgurdid. [Question ID = 296227]

Correct Answer :-
o Normal / GTATT [Option ID = 1152361]

6) Which of the following is a poor conductor of electricity?

Freltertddht Furel! aMse Asrar v fgrse aes 3me? [Question ID = 296228]

1. Aluminium / TegfATIZE [Option ID = 1152364]
2. Silver / Tér [Option ID = 1152365]

3. Copper / s [Option ID = 1152366]

4. Diamond / &1 [Option ID = 1152367]

Correct Answer :-
« Diamond / f&T [Option ID = 1152367]

7) By measuring conductivity ‘o’ the mobility ‘p’ can be calculated by using:-

qIEHdT ‘0’ o ATYT hedry, Afaefierdar y’ =Y @rell asEraT 39ANT FeT AT HIGT Ad. [Question ID = 296229]

1. Hall coefficient / gfeT [oTish [Option ID = 1152368]
2. Hall current / gfef T warg [Option ID = 1152369]
3. Hall effect / gfer aRomaT [Option ID = 1152370]

4. Hall volatge / &TeT fdegcrerel [Option ID = 1152371]

Correct Answer :-
o Hall effect / gfel RO [Option ID = 1152370]

8) What is the unit of reverse recovery time?

Regdt Rpadl oA ¥ vaveh F19 3M2? [Question ID = 296230]

1. Ns / TTH (7ggsT @ehg) [Option ID = 1152372]
2. Pf / diuws (Fashitiys) [Option ID = 1152373]

3. Mw / THSSeY (FdeH) [Option ID = 1152374]
4, pA / UT (ATTSRITIFIAR) [Option ID = 1152375]

Correct Answer :-



* Ns / TUH (7ggsT deha) [Option ID = 1152372]

9) Which types of robots are used in education?

A&TTOTF AT FIoTeAT YHRY ASeH TR ATATA?
[Question ID = 296231]

1. Artificial intelligence / I gigHcdr 3r&elel [Option ID = 1152376]
2. General / GrATY [Option ID = 1152377]

3. Industrial / 3iteafa1s [Option ID = 1152378]

4. Hobby robot / gfsf Y§te [Option ID = 1152379]

Correct Answer :-
 Hobby robot / gifs &le [Option ID = 1152379]

10) The binary number system is also known as:-

gfawTeT WEdT (T AR YoTTelt) SaaEduTdY § AT @ e
[Question ID = 296232]

1. Base 2 system / 3T8IR R GgdT [Option ID = 1152380]
2. Base 4 system / 3R ¥ Tgdr [Option ID = 1152381]
3. Base 6 system / 3R & Tgdl [Option ID = 1152382]
4. Base 8 system / 3TTYR ¢ Ugdr [Option ID = 1152383]

Correct Answer :-
 Base 2 system / 3¢ R Igdr [Option ID = 1152380]

11) The number 28 equals to in decimal.

gRMer gl ¢ e gde% 1. [Question ID = 296233]

1. 256 / 95 [Option ID = 1152384]
2. 128 / %3¢ [Option ID = 1152385]
3. 512 / 322 [Option ID = 1152386]
4.120 / %20 [Option ID = 1152387]

Correct Answer :-
e 256 / 4¢ [Option ID = 1152384]

12) Given symbol indicates which logic gate?

e faeg v affa e gfa #3a?



[Question ID = 296234]

1. AND gate / TUA3T 31e [Option ID = 1152388]

2. OR gate / 3137 3¢ [Option ID = 1152389]

3. NOR gate / TsI3{131R 31 [Option ID = 1152390]
4, NAND gate / TsTUUIST 31 [Option ID = 1152391]

Correct Answer :-
« OR gate / 30131 31 [Option ID = 1152389]

13) Devices located outside the CPU are known as:-

AT a1 3rAeedT SUFIOTT 3 FUTaTd. [Question ID = 296235]

1. Data / 3eT [Option ID = 1152392]

2. Bus / & [Option ID = 1152393]

3. Memory unit / A JfA€ [Option ID = 1152394]

4, Peripheral devices / 9RE™T 39aor [Option ID = 1152395]

Correct Answer :-
e Peripheral devices / 9RERT 3gaor [Option ID = 1152395]

14) What is the processor speed of basic stamp microcontrollers BS1-IC modules?

IR VT ARFEFA dewe - 3T Aggewear N/ Tl F1T 3r7d? [Question ID = 296236]

1. 20 MHz / 20 ®31 g&=T [Option ID = 1152396]
2. 8 MHz / ¢ #T g¢aT [Option ID = 1152397]
3.4 MHz / ¥ ®91T g<37 [Option ID = 1152398]
4, 50 MHz / $o R §¢aT [Option ID = 1152399]

Correct Answer :-
e 4 MHz / ¥ 3T g¢aT [Option ID = 1152398]

15) A has complexity from 12 to 99 gates.

THT ALY ¢ o ’R NTH FIFcATFAS! AT, [Question ID = 296237]

1. medium scale integration / #EIH A0ft HehelaT [Option ID = 1152400]

2. small scale integration / &g Aofl HeholeT [Option ID = 1152401]

3. very large scale integration / fa=mer Sofr Gehelel [Option ID = 1152402]

4, ultra large scale integration / 3ifafaemer Soft @ehereT [Option ID = 1152403]

Correct Answer :-
« medium scale integration / FEIH 0T HeheloT [Option ID = 1152400]

16) The speed regulation of a series motor is than that of a shunt motor.

w1 RS Ave=ar d AgaeT g Aedan 379d. [Question ID = 296238]

1. Same / G&AT [Option ID = 1152404]
2. Constant / 2R [Option ID = 1152405]
3. Varying / SgefoTX [Option ID = 1152406]



4. Poor / fase [Option ID = 1152407]

Correct Answer :-
« Poor / faigse [Option ID = 1152407]

17) EMF which always opposes the flow of a current in motor operation is known as:-

AT FETT THT dIST aTeT FIA R FI0MAT STATHAT FEOTAT.

[Question ID = 296239]

1. Counter / 7@%g [Option ID = 1152408]

2. Torque / & [Option ID = 1152409]

3. Shaft torque / 3787 €% [Option ID = 1152410]
4. Flux / 978 [Option ID = 1152411]

Correct Answer :-
« Counter / Td%g [Option ID = 1152408]

18) In DC motor, the dc supply is switched on with starting handle in the position.
St AreTHey, St WasT ge Avarararsi __ Rudid A3 §F .

[Question ID = 296240]

1. OFF / s [Option ID = 1152412]

2. ON / are] [Option ID = 1152413]

3. Neutral / 313 (3er&ieT) [Option ID = 1152414]

4. Reverse / 3ercar fg2ra (Regd) [Option ID = 1152415]

Correct Answer :-
e OFF / §¢ [Option ID = 1152412]

19) What is cylindrical in shape and mounted on the shaft?

HUTCAY IS G ITHRTT A 3O 3r877aT (enwFe) safadelt raa?
[Question ID = 296241]

1. Poles / ¢a (9Ted) [Option ID = 1152416]

2. Yoke / 3 (I1) [Option ID = 1152417]

3. Field windings / &1 $sel (ftheg argfesar) [Option ID = 1152418]
4, None of these / 3787 & 15 ATg [Option ID = 1152419]

Correct Answer :-
* Yoke / ] (Fe) [Option ID = 1152417]

20) In which instant, the plane of the coil is perpendicular to the direction of the magnetic field?

FOTAT THA, Figerd) T Jahrr arameft &7 3r7a? [Question ID = 296242]



1. Instant 4 / 99T ¥ [Option ID = 1152420]
2. Instant 3 / 99T 3 [Option ID = 1152421]
3. Instant 2 / 99T R [Option ID = 1152422]
4, Instant 1/ 99T ¢ [Option ID = 1152423]

Correct Answer :-
o Instant 1/ 9&aT ¢ [Option ID = 1152423]

21) Which part of the DC machine consists of the following functions?

1) To facilitate the collection of current from the armature conductors
2) To produce unidirectional torque in case of motors

Y TATTAT HIUTAT AT Grellel FRf FAATT?

1) 3R AEHTIRGT ST HAEUTAT FH Fafaor
2) Aredear WeHTd vhigelT efd At wyor
[Question ID = 296243]

1. Brushes / erell (s721) [Option ID = 1152424]

2. Bearing / 13191 [Option ID = 1152425]

3. Commutator / F#geex (fdegayare) [Option ID = 1152426]
4. Shaft / e [Option ID = 1152427]

Correct Answer :-
« Commutator / F#geeX (faegdvarg) [Option ID. = 1152426]

22) Which type of winding is mainly used in induction machines and synchronous machines?

gsaeret AR 0T Rershiere ARITTEd yTEame FoTeT TFRY aEfEET arRa J? [Question ID = 296244]

1. Open type winding / GeaT JehRd aTgfSar [Option ID = 1152428]
2. Lap winding / o9 arsf3ar [Option ID = 1152429]

3. Armature winding / 3T#eR arsf3ar [Option ID = 1152430]

4. Double layer winding / &faEa{Iar argf3er [Option ID = 1152431]

Correct Answer :-
« Open type winding / GeaT 9ok argfsar [Option ID = 1152428]

23) What is defined as the distance measured between two coil sides which are connected to some
commutator segment?

Regavarer=ar 1€t @3 AT FigereaT Al ATt HH F1T Fgurara? [Question ID = 296245]

. Back pitch / #ATfYer fO=r [Option ID = 1152432]

. Pole pitch / drer T=r [Option ID = 1152433]

. Winding pitch / argf3sr {1 [Option ID = 1152434]
. Front pitch / #Rrer T [Option ID = 1152435]

N W N =

Correct Answer :-



« Front pitch / ¥#RTer fOa [Option ID = 1152435]

24) Demand meter is an example of which type of instrument?

Ao HieX § FIOTAT YHRTAT SYHIVTT T 3GTET0T 3e? [Question ID = 296246]

1. Recording instrument / Aot 39T [Option ID = 1152436]
2. Indicating instrument / = 39eI0T [Option ID = 1152437]
3. Integrated instrument / Hehfeld 39eR0T [Option ID = 1152438]
4. Absolute instrument / crﬁqp‘r 39T [Option ID = 1152439]

Correct Answer :-
« Recording instrument / Aiguft 39T [Option ID = 1152436]

25) What is the % of error allowed for a single range (voltmeter or ammeter) for electrodynamic
instrument?

TH{Y Avfrean (sgieeHie BT THIEY) SIS A SUFHIUTETS! 3eTAa Trdt eadhant frdY 3re? [Question
ID = 296247]

1. 0.3% / ©.3% [Option ID = 1152440]

2. 0.2% / ©.3% [Option ID = 1152441]

3. 0.25% / ©.3$% [Option ID = 1152442]
4,110 3.5% / ¢ o 3.9% [Option ID = 1152443]

Correct Answer :-
e 0.3% / ©.3% [Option ID = 1152440]

26) What is the temperature coefficient of resistance at 20° for phosphor bronze?

BREBT SISATSN 0° ATTHTATER AT ATTHTA 0TI HIT HHA?
[Question ID = 296248]

1. 0.0039 / o.003R [Option ID = 1152444]
2.0.001 / o.00% [Option ID = 1152445]

3. 4x107° / yxgo™® [Option ID = 1152446]
4.1.72x108 / 2.63x20™¢ [Option ID = 1152447]

Correct Answer :-
e 0.001 / o.00¢ [Option ID = 1152445]

27) Which type of error can be minimised with reduction of weight of the moving system?

aﬁawﬁwmwmﬁwmgﬁmﬁmmemﬁ?
[Question ID = 296249]

1. Frequency error / dR@RdT J¢r [Option ID = 1152448]

2. Hysteresis error / geaeiterdr (REeX &) ¢ [Option ID = 1152449]
3. Temperature error / aTqﬂl?-rgé‘r [Option ID = 1152450]

4. Friction error / &¥oT (fierereT) 3T [Option ID = 1152451]



Correct Answer :-
« Friction error / &¥oT (fikererT) €T [Option ID = 1152451]

28) Which method is also called as the concatenation of the induction motors?

FUTAT TG SSFUT AT NSO FHIUAT (HierheaAud) HW ST Fgordia?
[Question ID = 296250]

1. Pole changing / §a SgeroY [Option ID = 1152452]

2. Injecting slip frequency EMF into rotor circuit / Aex Tfheaed T aRARAT STATH 3id:8d (3oide) HOT
[Option ID = 1152453]

3. Cascade control / &3 30T [Option ID = 1152454]

4, Kramer system / sh&X I=0T [Option ID = 1152455]

Correct Answer :-
« Cascade control / S¥$hs FI=0T [Option ID = 1152454]

29) is defined as the difference between the synchronous speed and the actual speed
of the rotor.

Ve Faifaw (RPFH) ard 3nfor arafas (Feaeat ) 1t Iredr gaTa=ar BIhrer kir: )
Fgurdid. [Question ID = 296251]

1. Slip / T&eT [Option ID = 1152456]

2. Rotor reactance / JeX R3¥eFea [Option ID = 1152457]
3. Ring / RaT [Option ID = 1152458]

4, Wound rotor / @138 e [Option ID = 1152459]

Correct Answer :-
e Slip / 9 [Option ID = 1152456]

30) Given equation represents which type of losses?
Pm = P> - P,

Greltel FHIHTOT FIOTCAT THR JHATT Geifacd?

Pm =Py-Pc

[Question ID = 296252]

1. Rotor copper losses / TeX &I sfeaTel [Option ID = 1152460]

2. Stator losses / ¥&eX AT [Option ID = 1152461]

3. Shaft losses / M sfendTeT [Option ID = 1152462]

4. Gross mechanical power losses / THUT Iif¥eh 3ot gTir [Option ID = 1152463]

Correct Answer :-
« Gross mechanical power losses / T&pUT Jif3sh 3ofel gTei [Option ID = 1152463]

31)



is the process of converting energy from some alternate form to electrical energy via a

process.
TETEAT TARf 3T FawaTe g 3fa Satavor Foarar gfnder FguTdrd. [Question ID =
296253]

1. Generation / fAf&dY [Option ID = 1152464]
2. Transmission / 9RYOT [Option ID = 1152465]
3. Distribution / f&@3oT [Option ID = 1152466]
4, Utilization / @R [Option ID = 1152467]

Correct Answer :-
o Generation / faf3d [Option ID = 1152464]

32) Given figure indicates which type of four pole gramme-ring winding?

@relt ferel amepelt ar et ame-Rar arifegaren Fiorar yar gdfaa?

[Question ID = 296254]

1. Cross section / shi& ekereT [Option ID = 1152468]

2. Equivalent armature circuit / T#eReT 3R Tfdhe [Option ID = 1152469]

3. Simplified equivalent armature circuit / Fersfiehe FereT 3MeTR Fidhe [Option ID = 1152470]
4, Complex Equivalent armature circuit / STfeel TaeheT 3R Tfehe [Option ID = 1152471]

Correct Answer :-
o Cross section / shig AF2reT [Option ID = 1152468]

33) The single conductor requires 30 ms to move through the uniform magnetic field of 5x10°
maxwells, find the average voltage generated in the conductor.

THT TH AGHIAT THAATA 9x¢ o HAFHAS TR AATA A0 30 fAreliehe damrard, M. fafor gromr
T Ty e ane.

[Question ID = 296255]

1. 1.65V / 2.€3 Tglec [Option ID = 1152472]
2. 1.66V / 2.6& Tglec [Option ID = 1152473]
3. 1.67V / 2.6 Sglec [Option ID = 1152474]
4, 1.68V / 2.6¢ g [Option ID = 1152475]



Correct Answer :-
e 1.66V / 2.6€ T@lec [Option ID = 1152473]

34) Given figure indicates which type of windings?

Gl 3Tl FIOTAT Yo arifesar geifaa?

[Question ID = 296256]

1. Performed armature coil / I%iFs 3R Figer [Option ID = 1152476]
2. Lap wound coil / o9 a138 Higer [Option ID = 1152477]

3. Wave wound coil / 39 @138 &rsel [Option ID = 1152478]

4. Two layer windings / gfa€adg arsfser [Option ID = 1152479]

Correct Answer :-
« Two layer windings / &fa€ddT argfsar [Option ID = 1152479]

35) Which type of windings is used in small induction motors and in small wound induction motors?

TETT ST A A0 FAeTeT AT SsFee ATHHAEY FIVAT TR JRIfFET aroa Ja?
[Question ID = 296257]

1. Lap and wave windings / o9 3TfOT a¥aT ardifesa1 [Option ID = 1152480]

2. AC synchronous dynamo armature windings / THI Hehifelehidegd-sTi=ia31#eR arifesar [Option ID = 1152481]
3. Half and whole coil windings / 3r¢f 3107 HYuT wiger arifesar [Option ID = 1152482]

4. Chorded or fractional pitch windings / Sftargerd foar 31ifareh drer arifesar [Option ID = 1152483]

Correct Answer :-
« Half and whole coil windings / 37¢f 3701 HYuT Figer arifesar [Option ID = 1152482]

36) has a load voltage characteristics in which the no load and full load voltage are

FEY |13 Sgiecr ARISCY IFHATT SAHEY WS THATAT IHTTOT IOT 5 HAATAT Sgiecsr HATT A,
[Question ID = 296258]

1. Flat compound generator / HHng—d ST (TFefe SUTHE STeiiex) [Option ID = 1152484]

2. Under compound generator / fd@eTa SIfai (313X U138 SteikeX) [Option ID = 1152485]

3. Over compound generator / 3ife g ST (3Neg SHUTS3 STelReX) [Option ID = 1152486]
4, Welding generator / GTHUT ST (ATesdT Sekex) [Option ID = 1152487]



Correct Answer :-
« Flat compound generator / HHETF SATAT (Fef HUTFS Sfeiiex) [Option ID = 1152484]

37) The property that is measured by its maximum residual magnetic induction is known as:-

37T IOTERH SATAT ATAT HeedH AV LTI STFAAGART HloTed ST Tl FEUTAId.
[Question ID = 296259]

1. Interpole / 37TcRed ($eXqter) [Option ID = 1152488]

2. Saturationcurve / HYfeFel dsh (FegeT &d) [Option ID = 1152489]
3. Shunt generator / 929y SIfaT (€ SF=eX) [Option ID = 1152490]
4, Retentivity / emRoTefterar (Refeefad) [Option ID = 1152491]

Correct Answer :-
o Retentivity / gRoTefrerar (Ref=efadr) [Option ID = 1152491]

38) What is the value of solar constant?
HRIFT (HIeR Fleveee) FeT F1T 38?2 [Question ID = 296260]

1. 1.39 kWh/(m2-h) / £.3% frairde/ arefy ast #iex [Option ID = 1152492]
2. 1.40 KWh/(m?2-h) / 2.yo fhelide/ arelt et #iex [Option ID.= 1152493]
3. 1.41 kKWh/(m?2-h) / 2.yt fRelide/ areft @ef #rex [Option ID = 1152494]
4. 1.42 kKWh/(m?2-h) / 2.¥2 frelide/ arelt et #ex [Option ID. = 1152495]

Correct Answer :-
« 1.39 kWh/(m2-h) / 2.3% fhelide/ arelt @at #ieT [Option ID = 1152492]

39) is a process of capturing waste heat from manufacturing.

ITUTGHATST HATASE FEAT AT FHI0TAT Yfhdar Fgurdrd. [Question ID = 296261]

1. Cogeneration / TEAHATOT (FIsTeARereT) [Option ID = 1152496]

2. Topping cycle / EITA9T Tsk [Option ID = 1152497]

3. Bottoming cycle / Stef&ar = [Option ID = 1152498]

4. Combined heat and power / EJed ST 37101 reFell (FgeFcl fge @ dia) [Option ID = 1152499]

Correct Answer :-

« Cogeneration / HEfYATOT (s 2reT) [Option ID = 1152496]

40) The output of the windmill is given by:
qaeaFhI ScuTed AreanT o Jra:
[Question ID = 296262]

1. P = 2.13x103 Adv3 kW [Option ID = 1152500]
2. P = 2.14x1073 Adv3 kW [Option ID = 1152501]
3. P = 2.15x1073 Adv3 kW [Option ID = 1152502]



4, P = 2.16x1073 Adv3 kW [Option ID = 1152503]

Correct Answer :-
« P =2.14x10"3 Adv3 kW [Option ID = 1152501]

41) A is an open channel or a tunnel depending upon the powerhouse location.

TF T Gell aTfgel) RRaT v SraT 3w, Y AereRredn TUEER aees raal.
[Question ID = 296263]

1. Spillway / 31adT (R’gerd) [Option ID = 1152504]

2. Trash rack / eRT ST (2T I&) [Option ID = 1152505]
3. Surge tank / 3eatel €T (FeT &) [Option ID = 1152506]
4, Tailrace / 3@sTerdrg (¢el¥) [Option ID = 1152507]

Correct Answer :-
« Tailrace / 31dsTerdig (Selk®) [Option ID = 1152507]

42) In which process the water enters the surface strata of soil and makes its way downwards to
the water table?

FIOTCAT FishAT qToft ATAIEAT JoSHTATC FaTer aer FTa IOr sfrarrean A @relt AMTHAT FXd? [Question
ID = 296264]

1. Transpiration / sTSAicdsteT [Option ID = 1152508]
2. Interception / 37aRfersT [Option ID = 1152509]

3. Infiltration / 37d&&xoT [Option ID = 1152510]

4, Surface runoff / geadarg [Option ID = 1152511]

Correct Answer :-
o Infiltration / 37&&XOT [Option ID = 1152510]

43) of transmission line is defined as the ratio of change in voltage at the receiving
end from no load to full load keeping the sending end voltage and frequency constant to the full load
voltage.

TeRfAAT ageAAtier 7t SqrEdt At A Q@ Bl AlS HA Tg0T faNT eglecoAAtiier agerd ol
mﬁmmammmmmmﬁmwawma@mmm

[Question ID = 296265]

1. Regulation / &5+ [Option ID = 1152512]

2. Efficiency / @r&t#ar [Option ID = 1152513]
3. Performance / SATIRT [Option ID = 1152514]
4, Power / 35T [Option ID = 1152515]

Correct Answer :-
« Regulation / ¥g# e [Option ID = 1152512]



44) Given figure indicates which type of insulator used in overhead transmission?

feerear ampcia alier dyomeTed HioreAT yHRET gy geifaer ame?

[Question ID = 296266]

1. Shackle insulator / f¥aTs faegeRiere (el S=qeiex) [Option ID = 1152516]

2. Suspension insulator / feleleieT fdegcRTers (€92l S=4geieX) [Option ID = 1152517]
3. Strain insulator / ATOT faegeRIErs (F¢eT $=geleX) [Option ID = 1152518]

4. Pin insulator / =T fdegeaiere (T $=geiex) [Option ID = 1152519]

Correct Answer :-

« Pin insulator / T fdeggeritreh (9T g=geiex) [Option ID = 1152519]

45) Which application of transformer is mandatory for all medical equipment?

G AGTHIT ITHIUMATS TABIHIT HIVT 3YATTT T 3m? [Question ID = 296267]

1. Electrical isolation / ﬁagﬁmﬁ%l?r [Option ID = 1152520]

2. Impedance matching / R Hcelel (3¥Usa Hfar) [Option ID = 1152521]

3. Instrument extension / 39T faFdR (3=gH-C TFaC2I) [Option ID = 1152522]

4, Link between AC to DC system / T&Y 37701 ST T0TeIearAdT foieh [Option ID = 1152523]

Correct Answer :-
« Electrical isolation / faegd 3ma@telret [Option ID = 1152520]

46) Given figure indicates which type of transformer?

WTeATeT Tl FITAT JHRET STeHBIAT e M2

pr -4 | b % § — g ¥ b i ®
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[Question ID = 296268]



1. Core type / I3 YR [Option ID = 1152524]

2. Shell type / 2T YRR [Option ID = 1152525]

3. Berry type / ST ¥R [Option ID = 1152526]

4, 3 phase type / 3 %af 9 [Option ID = 1152527]

Correct Answer :-
« Core type / I3 YR [Option ID = 1152524]

47) What is the capacitance value (pF) for 1/8 horsepower (hp) split phase motor?

¢/ ¢ 3reaerardear (Tad) Reae Ser ACTHTS FAEF Hed (AIHINS) (UUF) F1T 318? [Question ID =
296269]

1. 100 / goo [Option ID = 1152528]
2. 80 / ¢o [Option ID = 1152529]

3. 135/ £33 [Option ID = 1152530]
4.175 / 23 [Option ID = 1152531]

Correct Answer :-
e 80/ ¢o [Option ID = 1152529]

48) The quadrature pulsating rotor field reacts against the pulsating main field to produce a

FaTgTa] JeAfedr NeX fhes & veRfear fes s sfffenar wwa anfor AT F3d. [Question
ID = 296270]

1. magnetic field / Ierehrar &1 [Option ID = 1152532]
2. induction motor torque / 3T AIEX €l [Option ID = 1152533]
3. circular field / acjerehR & [Option ID = 1152534]
4, resultant field / 9RO 817 [Option ID = 1152535]

Correct Answer :-
o resultant field / IROMHT &= [Option ID = 1152535]

49) What can be used for high frequency cables as it has a low melting point?

&t AP 9ige WA 3TT TRARAT FATHTS! FIT AT T3 AFd? [Question ID = 296271]

1. Varnished cambric / cgTfsi218 shf&sie [Option ID = 1152536]

2. Polyvinyl chloride / diforeglaTS el FRTSS [Option ID = 1152537]
3. Polythene / 9ifaifasT [Option ID = 1152538]

4, Vulcanized rubber / cgeshaTTsss I&X [Option ID = 1152539]

Correct Answer :-
« Polythene / Gifeif@sT [Option ID = 1152538]

50) Which class of insulating materials consists of combination of materials and are accepted at
120° temperature?

Forear Avfrear fggaad aftcarear fafay yera wifte s 3for d 200 JAETER FHFER ATT?



[Question ID = 296272]

1. Class E / #oft § [Option ID = 1152540]
2. Class Y / &oft arr [Option ID = 1152541]
3. Class H / #off T [Option ID = 1152542]
4, Class C / #oft T [Option ID = 1152543]

Correct Answer :-
« Class E / #0ft § [Option ID = 1152540]



